_ | QUESTION BOOKLET
This question paper contains 200 questions. / 38 W74 93 § 200 W7 & |
All questions are compulsory, / 8%} w73 #fyar 8 |
One question carries half mark only, / & 797 & U Faa A AF 2 |
Maximum Marks : 100 aftrram 374 : 100
Time : 2 Hours |g : 260

1. Which register is used as a working area in CPU ?
(A) Accumulator B) Stack Pointer
#EL Program Counter ED{ Instruction Register
o

TR 1 WA CPU 3 wap aif ofean & a1 W ffen ST @ 7

(A) tﬁﬂ{gﬁﬂ (B) == 91
(C) W™ FHTFH= (D) 3R T

2 What is the full form of SEO 7 Eﬁ
A) Software Engineering Organization :

C) Semi-Elasfic Object
D) Search Enabled Operation

SEOQ &1 0] 9 F1? 2
(A) :
(C) Wh-Y £ PN Y . cining services ?
3. Which provides mobile users with positioning, nay:gation an ing ?
(A) EII:J:GE (B)_GPRS _ | (€) GBS\ _ (D Bluelnm%
A AYETEe ITEFTEHAISAT Y Fe o ZrEfiim dand wer F@E 7
(A) $.¥1.51.5. (EDGE) ) S, S (GPRS)
(C) sh.dt.am. (GPS)=ueer = § l;::;:ﬂﬂ
# wcﬂgﬁﬁiﬁgwm B) CRT Monitor

B% Search Engine Optimization

C) Plotter Dot Matrix Printer
ﬂﬁaﬁ:qmim-MMmi_? Lo

(A) Fror B | (B) d.amA.

(C) = (D) -7z Afgwa A=

5 Which of the following software tools is most suitable to create brochures,

Ezsggﬁﬂﬁwhn?% Photoshop  (C), PowerPgint (D) PageMaker

3 3 = 1 AT g A, o T T o forg WSS § 7
(A) SR %ﬂﬂq (C) amE= (D) Yo

6 Decorative line or taper added to the beginning and/or end of a letter's stem
15 called a/an

B) Padding (C) Senf (D) Keming
Ea'; {.ﬂ‘?‘i‘ii'éf% {gt(em}‘-ﬁ YHHAT T/ ST A | Eﬁﬁnﬁa)?&i?a ST 7Y
T FEeh B _
(A) 8= (B) ufEm (C) #fw (D)
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_Which of the following is not a pant of CPU ST Foe

nas .
"he user id of a Twitter account 1f ﬂu‘:gﬁ pashag (D) Mention

(A) Tweet (B) Handle o g AT R |

T e K g i W — (D) HRH
(A) zd (B) ¥=A ©

What is the full form of "QR Code”? ick Response Code

(A) Quick R lar Code (B). QU

(C) Quartz Readable Code (D) Quick Readable Code

QR Code"wmpisgsm d 7

(A) s et w7 @) whe R e

(C) vt friwen wig (D) i fdw

What does the letter 'C* denote in the acronym CPU T
[-I"I-'J Control (B) Common (C) Central (D) Computer

HifS =3 “CPU™ § C wefita won &
(A) #3m (B) ®hm (C) B HRR

cue

(A) Load (B) Dec xule, || (D) Fetch
VA A ¥R CPU yw A LSRN B
_(A) e L S AN (D) %@
A CPU congis + —_» ind a memory unit,
(A) s¥Slemitin X (B) inputoutput
(C) anthmetigi&: Togic unit D) peripheral unit
o CPUNSCRqRE, o1 uw dmhdl qfvz i |
(A) femn e (B) Wy
(C) niltfrw va =ffos g (D) Weheer gfi
w]mhumquiudmmukuhndmwﬁfndigim document ?
(A) Printer (B) Digitizer  (C) Scanner {EI}“] Joystick

WMEMHEMWM_ i Fﬂwmh—__.ﬂﬁmmpamdtﬂﬂﬁ‘

(A) less,slower (B) more, faster (C) jegg ¢ i
EroE 1 W“Wmtmﬁﬁ;ﬂﬂ%%ﬁmnmﬂ;‘:
(A) w1, 0 (B) S ke (g .
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CMOS 1s a small amount of memo

therboard that stores
the BIOS settings. What 1 on a computer mo
(A) Cache Mu%ur}- al 1s the full form of CMOS *

Operated System
(B) Complementary Ia?:tal Oxide Semiconductor
(C) Common Machine ting System
(D) Computer Memory On Semiconductor
CMOS

FI W HETETE W AN @ g frem & = BlOS #fém w w5
ticMOS T i =T w7

(A} &7 (Cache) 1) wiiwizz fopen (B) wimefiied ze Sy Slidsat
(C) =g gfs wtgifen famm (D) swger B R AR

When power of a computer is turned on, a disgnostic test is carried out 10
check the keyboard, RAM, disk drives, and other hardware. This test is
known as

(A) POST B) REST (C) BIOS (D) CMOS

£ & forn e & @ e, Yo, T v e e e
CIE I Fﬂﬂwmg%l:’mﬁmt!mmﬂmmt

(A) 9.3 wRA. (POST) (B) m.{.uR.A. (REST)

(Cy o,z 30.uR, (BIOS) (D) #0830\, (CMOS)

Which comprises of a series of RAM integrated circuits that can be installed
in the motherboard's memory slots 7

NIC Cy SCS] (D) PCMCIA
() DN e & sren ) o & e e s o) e
reE Em a7
(A) E.37E.IR, (DIMM) (B) wA.3m.H. (NIC)
(C) wm a3, (SCSh) (D) ..o n (PCMCIA)
i following is a non-impact printer 7
mmg:ii;rh ’f‘-"hul Fril:rfwr (B) Line Printer
C) Dot Matrix Printer (D) Inkjet Printer
O S e v -t e R 7
(A) T = = (B) = fir
() =iz &fgan fo= (D) ¥ %2 fomn
What does the letter "M’ stand for in CMYK color model ?
(A) Mustard %ﬂ‘i Magenta (C) Maroon (D) Mango
CMYK et Higa 3§ o ‘M s gfan s R 7
(A) Wk (B) =@ (C) W& (D) i
_Which of the following is not a unit for measuring CPU s ?
g::' FLOPS (B) GHz (C) MIPS )y TWIPS
§ R B CPU & nfa w1 ared & for ok LK
(A) T (FLOPS) (B) M wR(GHz)
(C) = (MIPS)

“ Weries
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of
20, CATS, CAT6 and CAT7 are the types

(B) Wireless Technologies
:g; EE%EE:;E (D) Coaxial Cables
CATS, CAT6 aut CAT7 fe YR ‘5&'3} et
(A) wTFa Faey RIS
(C) A (UTP) ¥aea (D) R HAH
21~ Which connectors are used with UTP cables ?
"~ (A) VGA B) RJ1I (C) BNC N (D) RJ45
334, {W}%ﬂé%maﬁ:ﬁﬁmﬁmmﬁm
(A) F1sLu. (VGA) (B) 3F. 1I(RJ1D)
(C) s.w.Hf. (BNC) (D) RS 45(RI45)

22. .~ Which layer exists between

network reference model 2

(A) Network  (B) Transport  (C) DataLink (D) Presentation
ISO nsxﬁaﬁmmﬁmmﬁméﬁ%mm#ﬁmﬁﬂt ?
(A) ek (B) grwur C) TWhIF (D) B=wm

<23, HTTP operates in which layer of network ?
(A) Nerwork

(B) DataLink (C) Transport (D) A plication
HTT, Sradh %1 o e # s i ’

(A) “ea% (B) oo

apphication and session layers in 1SO O8]

(C) Zmmr (D) U

_' £ IP address js reserved for private use and i$ not
allmg:g to be tr&nsm#ttd across the Internet 2
il 1 3. . (IP) UEH =g gyam ;
T ZTRfE F ) S T %thmrmatmaﬁmﬁz

(A) 192.168.1.91 (B) 170.21.14.44 (C) 12.12.10.14 (D) 202.40.17.21
25:7 GSM, LTE, CDMA are which te

(A) Cellul B Bl chnologies 2
c ar uetooth 5
GSM, LTE, CDMA w3 0 et sy NFC (D) Wi Fi
(A) (B) sy
(C) 7541 (NFC) (D) amg-wrg (WiFi)
26. ~Which of the following Operating syg s fr d _source ?
(A) iOS ®) Windows (0 iee *® WD) Linux
Fodash@ ‘ ﬁm'ﬂﬂﬂmm—n\ﬁt?
(A) #E.ALTE. (i08) (B) fr=
(©) v (D) foraa 1 .
Code No. : C-780/2022/Series-B~ —— =

6



217.

\.;

29,

30.

3.

32.

pe

34,

A program in execution is called a

(A) scrpt (B) process (C) thread (D) software
VAR H Th W, U HESATT & |
(A) fBre (B) W=H (C) oz (D) HiFET

When a file is deleted in Windows, it is moved 1o )
(A) Recycle Bin (B) Dust Bin (C) Trash Bin (D) Garbage Bin
=21 § e S wine fafee $ i @ 79 92 T aehl ATt R |

(A) fwmsa fm (B) sw i (€) o fam (D) e faa

Which of the following characters is not allowed in a file name in Windows?

foZre # wrga & A H frm & o w1 famm wfEfia 2 2

(A) $ (B) * (C) & (D) #

What is the shortcut key to open "Run" dialog box in Windows ?
425 § “3 (Run)" S1aa afad # Ged & fofy Tiewe-#1 (key) T8 7
(A) Cul+ Shift +R (B) Windows Logo Key + R

(C) Windows Logo Key +U (D) Shift+ R

Which of the following is the default web browser in Windows 10 fresh
installation ?

(A) Mozilla Firefox (B) Chrome

(C) Edge D) Safari

s 10 % v Feeva d e d | ol fewlee aa e R 2

(A) mfsen wrawE (B) m m
(C) wgs (D) =&l

What is the shortcut key to run "Snip & Sketch" tool in Windows 10 ?
a2t 10 § “fem we =" g8 B @ (RUN) F1 6 widse-Hi s d 7
(A) Shift+ Alt+S (B) Shift + Ctrl + S
(C) Ctrl + Shift + Alt+S (D) Shift + Win + S

Which command in Windows 10 provide options to manage vour co
drives (disks, partitions, volumes etc,) ? gey mputer's

fam2ra 10 1§ 3 o HATS HTTH %
e 104 mmifmm s (fow, wiéwa, steqm anfe) =)
(A) chkdsk (B) diskpart (C) scandisk (D) defrag

Which command in Windows 10 displ

E:%I;Il gnl;-:ha; :h?r au‘"ﬂw“;';:%ﬂmﬁsagﬁ IP addresses, subnet mask, and
A 10 THHTE T 2wl

wres w1 fewiee 12-3 wefita w7 % fore 3mé. . wgm (IP T3%), garira

(A) ifconfig (B) ipconfig (C) ping (D) netstat



3.

Which feature of Windows 10 allows the user to quickly minimize al| Open

windows except the active one 7 show Desktop(D) _Shake

A) § (C)
%‘Gmnlaﬁ'mméﬂ Fﬁmﬁmﬁﬂﬁ*‘*m”mmy

SOF e ——— L
m} 1 (Snap) (B) 9 (Peck)

(C) i ¥z (Show Desktop) (D) 7% (Shake)
What is the shortcut key to close ﬂm:-:mﬁllmuﬂn window in Windows 109

10 7 Ufes vy fams w2 w0 6 Acwe-! (key) W18 7
(A) Alt+ F-.t (B) Ctrl+ Alt + Del
(C) Cirl - (DY F10
Which af‘lh: following is not a built-in slide layout in PowerPoimnt ?
(A) Summary (B) Title and Content
Eﬁ}' Title Slide () Comparison
ﬁﬁmmﬁrnﬁﬁﬁ-nmﬁﬂ R AR
(A) w=i (B) 7192 U8 Tt
(C) ZrEm = (D)
E]I& are the visual eifects that appear fs One shide Ehﬂl’lgﬂ:ﬁ to ﬂﬂﬂlhﬂ'

(A) Rehearse (B) Show (C) Transition (D) Ammnt:un
IR 9F 0 U9 (visual effects) § # Eﬂ?!ﬂlﬂ%

TR TRz e 7

(A) Tord (B) M (Show) (C) Zifwvm (D)t

Hiﬂ E::T:ﬁ:silﬁm that is added to text and graphies on a slide rather

Rehearse Timi
%C; Animation . b{; E’E’um
Eﬂﬂ;:;mml effect) mﬂﬁqgﬁﬂmmt

(A) - B) | © W (D) it

.” Which of the following keys must be pressed while drawing oval to make &

perfect circle in MS-PowerPoint 7

(A) Insert (B) Ah (C) Shift (DY Ciyl
When you click a placeholder or an object in MS-PowerPoins, sizing

=
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_Which of the following is a system software ?

A PowerPoint is 0 pattern o b 10 of slides
that is saved as a .potx file. P or blueprint of o slide or group

(A) style (B) custom template (D) slide shnw

qraTEe RS =1 T ey 71 & R &,

e AT LR

(A) wEe (B) N (C) e (D) W

W'.Iw:h of the following is not a transition effect in PowerPoint ?
Checkerboard(B) Dissolve  (C) Fade (D) Drop Cap

H B Tanige § U gitte e TE # 7

(A) TS (B) Fma (C) %3 (D) g

Which of the fallowing programming languages is CPU dependent ?

(A) SQL (B) Assembly Language

(C) n (D) Java

*higmﬁrﬁmﬁm CPU st & 7

(A) SQL (B) TR ¥ (C) IRUW (D) mar

fA) Spreadsheet (B) Word Processar
{C) MediaPla (D) Compiler
ﬁnﬁﬁﬂﬁﬂm wiRam 7

{m e (@) =WEwm  (C) HfmAw (D) FEER

mmapmmm!ﬂstnudédﬂmmi:ﬂmmmm?

A) Logical B) Runmm { ) Eyn ¢

} ﬂuﬂ:ﬁa&é mﬁ) ?

(A) Sffem (A1fes) {B}

(C) ffR= (D) Rwa

"H'hmh of the following software is mot o part of standard Windows
) ngﬂ' (B) Paim (C) Web Browser(D) Notepad

(A)Y MS Office

Frey 1 i e st P R o e wg)‘

(A) MS Office (B) Y¥ ©€) WEER (D) ele

Which Hgﬂﬁmmﬂﬂmhﬂﬁwmwu‘DFﬂlc?

tg; Aduh: Photoshop 31; Eﬁg Word

(C) Adobe PowerPoin

ﬁr!l “%m FﬂFmﬂrﬁmﬂ-mﬁ:mt 7

(A) mﬁaﬁrw (B) —
(C) wirafm W%

3 Cade N~ :f.mah‘ﬁr,:—..—




A5, “"l;lmr.memﬂﬂh:#nmnm'lgmdmhmmﬂrmLﬂ"ﬂwmhlﬁu?

e “.ﬂﬁﬂqﬂiﬂﬂt?
RS i B 0 25 it wTem 30 (©) AN3O (D} AI3g

(A) AC2S (B) AD25 i
507 Which of the following is not a valid cell address in M3 kxcel !
d ﬁﬂaﬁhmsw}ﬂﬁﬁ:ﬂmﬁﬂm?ﬂ - 5
5L How many cells are there in the cell range B2:F121 MS Excel ?
‘ MSWﬁE!zFIImﬁﬁW%g? |

(A) 55 (B) 48 (€) 52 (D) 44
52, Which of the following is an absolute cell reference ?

= 8 2 ek s ol w7

(A) @A@I0 (B)SAST (C) AB7 (D} AS
A3, What will be the value of a cell containing the formula given below?

etz o wiefen areh wE ® SE R 7

=5900%%

(A) 40 (B} 45 (C) 50 (D) 55

54.  What will be the address of a cell range from A3 10 G5 in MS Excel ?
7 MSTEERAIEGSHFERAATITN R AT 7

(A) AJ:GS (B} A3SGS (C) A3RGS (D) A3-G3

58, Consider the following dam in MS Excel worksheet :
) MS UsRe Ttz 8§ 4 fe2 e 22 w faam i

What will be the value returmed by the functior o |
G =<COUNTA(AL:DS) zm mm‘“';;% “E’U"LFNTA[AI D5
(A) 12 (B) 16 © 14

g5, Which of the following is the MS Ex
e empty cells in a given range?
117 %ol mﬁﬂﬁmﬁm _ ;
(A) COUNTNB (B) COUNT M WISt ters fq f 3 af ar f

(€C) COUNTNE (D} COUNT

ﬂ How many worksheets are present in ap
T ErTee VT 8 ) g, o) Workbook by default?
(A) 3 (B) 4 FrermT S 7

C
Code No. : C-T802012/Secles-B a{ ]-2 o) s -
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59,

..

6l

E;..f"".'l."hith of the following features in MS Excel lets

63,

_
-

.r'ﬂi

Which of the following ;s true about . ofault cell alignments 7
(A) Both text and nm%bur are alirél:tersil?:g.ml et

(B) Both text and number are aligned right,

(C) Textis aligned right and number is aligned lefi.

(D) Text is aligned left and number is aligned right.

MS T _fﬁﬂﬂﬁ%%aﬁﬁﬁqﬁﬁwwﬁ ?

3 T aférag & ¥ | o
(B) T &% 3 Fart gff o dfenag e | %
(C) o< g T T T =l i dfeag i # |

(D) & areft T oren ey =i i wiveg w3 |

What will be the value returned by the formula =WORKDAY("01-01-
2022%, 22) in Excel? {Assume Sunday on 01-01-2022)
T |

=WORKDAY("01-01-2022", 2) AWR AR 791 & 7 (01-01-
2022 =) Sunday W)

(A) 30-Jan-2022 (B) 03-Feb-2022 (C) 28-Jan-2022 (D} 01-Feb-2022

Ratating the data from rows to columns or vice-versa in a worksheet is called
(A) Pivol table (B) E-:nlii_yg, (Cy T sing (D) Range
ﬂ%‘&ﬁzﬁ@ﬁﬂ[mw}ﬁiﬁmﬂﬁﬁtﬂi: FI T FEAE 7

(A) e TEm (B) w=fem (C) grmifn (D) =

Which of the following is not a chari type supported by MS Excel?

(A} Area Chart (B) Scatter Plot (C) Volume Chant(D) Line Chart
= 1§ = MS e g0 T w1 mRad R g

(A) e (B) ®HXER (C) FEIE (D) armay

You record a sequence of
keystrokes and play them again when required ? .

(A) Macro (B) Format Painter(C) Wrap Text (D) Pivor Tab
MS e | S HJ G mﬁ-m%mﬁmﬁﬁﬁn%ﬁ;
! TR SEH ) A IR 7

(A) Bl (B) ®eW@ (C) TR (p) frdire ¥
Which of the following IP addresses iz knﬁwuszmpbmm?
frm 8 & fipm 1P USA &1 T09S THA TR ATM R 7
(A) 192.168.0.1 (B) 127.00.0  (C) 172,164, (D) 10.0.0.1
ich of the following network protocols is used for :
Elr‘::cdii access contm| (MAC) nddresses ? mapping IPv4 addresses
LRk ﬂ‘lifﬁlﬁmllhqqﬁﬁm__ T i i, |
E%mmﬁﬂfﬁmmt?: = Ei'-"“‘i"ﬁ‘lﬁﬂﬂ
(A) DNS (B) SNMR (C) ARp




69,

7

4 pddress 7
Which of the following is not a valid Jocal [P

P 8 & i an sy e (v R AR R 7 )
(A) 192.168.1.1 (B} 10.005 (C) 260.240.1.1 (D) 172.16.24,)

Which of the following commands mnf: uﬂmﬁﬁm" MESSAZES. 10 1est the

reachability of a specified computer on the network -

B 3 & W 1 e S fad w6 g W T 3 o (Cvp
T EAD _

(A) ipconfig (B) amp (C) ping (D) touch

" Which of the following is a popular Linux distribution supported by [BM ?

e 8 2 3 TRM g o e e FaegrogEe & 7 |
(A) RedHat  (B) BlackCap (C) BlueTee (D) Yellow Tie

Whach ts the on-dernand delivery of TT resources over the Internet with Piy-as-
you-go pricing ?

(A) Cloud Computing (B) Artificial Intelligence

(C) Mur;l,:'.ﬁm-: Learning (D) ‘Illtumi;::l' g‘lianﬁ:[mﬁ

I-TH-§-m unhm | pay-as-you-go pricing) % WY " FEEEWIT
watea & wfa-fore feefrti B

(A) wTIR Hugfi (B) wnifedos soafting

(C) =afts wfdn (D) =R wiw fim

Which virs relessed in 1986 is considered 1o be the first IBMFCMmrm‘hIEﬁMT
(A) Heart (B) Brain (C) Mind (D) Germ
1986 3 8 9 7 T [BM PC 3 e Faitfest amr wvn amn & 2

(A) w12 (B) ¥4 (C) =z (D) wd

Which is 3 malware that looks like a genuine application to the user 2

(A) Vieus : LE'J Im_r.m]'m“{['] Coaki
W 1 2 e ST ) e ot e O™
(A) TR (B) 7133w (C) w

(D) =
What is the full form of TCPAP »
(A) Transit Camier Protocol/Infonmgion Protocol
(B) Telecommunication ProtocolInter)inj Protogol
(C) Transmission Carrier

Ve
(D) Transmission Control Propeqg)/ met Protoagol

TCP/IPEEamank 7 |
(A) 7z Sl St i st

(B) < MR 20 Siorpte
(C) rafem i AT s

{u} i e —

Code No. : C-TRVI022Series-Hi




72. “Which is a plain text information about browsing session stored on the client
~ computer by the web server ?
(A) Database  (B) URL (C) Cookie (D) Signature
ﬁaﬁﬁmﬂmmwmmﬁamﬂm%aﬁﬁﬁmm@m#
Hg?

(A) TRE (B) URL (C) T (D) =t
137 Who among the following is known as the father of World Wide Web ?

(A) Tim Berners-Lee (B) Charles Babbage

(C) John McCarthy (D) Vinton Cerf

= 9 & i < ande 39 %1 s AT T R 7
(A) fuwd-si (B) w3 () wwAeefi (D) R=Awh
74~ Which of the following is a popular file compression utility software?

= 3 4 =R w1 y=faw vEe SEvE A aiRem 7
(A) Convert (B) WinWord (C) WinZip (D) Scandisk

75. Which is a combinational logic circuit that switches one of several input lines
" through to a single common output line ?

B G EGIS AT Afhe R, T Ghel HIFA ATILYLE T & GRT A FY2 S5
fATE R HE e ?
(A) Counter (B) Decoder  (C) Register (D) Multiplexer

76. Which of the following HTML tags is used to draw a horizontal line in a web
’ page?
fro 8 ¥ @ HTML 21 39 %9 f ffte aer e S aafi g 7

(A) <1i> (B) <hx> (C) <tx> (D) <br>

77, Ho heading levels are supported by HTML?

ML i i 2 e R € 7
(A) 5 ®B) 6 ©) 7 (D) 8

: ich of the following HTML tags is used to create a cell i

> g;ﬁﬁqﬂmumtﬂMﬂgﬂamﬂmg? B
(A) <cell> (B) <br> (C) <td> (D) <dd>

79 ich of the following attribule of an <img> HTM] ,

~ :mec?fy?hc URL of the image file? element is used to
wir wrger 5 URL %t Ffde %0 & Rl <img> HTM? i %1 g
‘ﬂli’l'ﬁ% ({ - - — -'—\
(A) sxc (B) href  (€) fa1e (D) target




8|0,

81

82.

g4

(A) <link> (B) <1i> (C) <a>

“an inline CSS is used in an HTML document 7 ‘
;.l':};k I;T :Ir::: L:.éii;}u; I‘;.Ell'r:? n? ?n the <head> section of the HTML documen,
(B) By using style anribute of the HTML element. .
(C) By using <style> element in the <head> section Df me_HWhL Itim;umem,
(1) By saving the CSS rules in an external file and linking it with the HTM
dm:urm:m. g a3 2 7
HTML ST=E= = SATTIET CSS +8 w4 & .
(A) HTML = % <head> ¥7F § <meta> U= &1 394N F1F
(B) HTML F WEE 1 I7dM Fih )
(C) HTML S78= % <head> i <style> Tfet= & I FHh
(D) vaHs wiee | CSS Fradi o 8= 566 37 @ HTML Siegi= o i sos

What is the correct CSS rule 1o set the background color of <h1> elemenis
tored ?

<h1> UiCTH~2H % 913 Fen 1 e de W F I HH T 8d CSS w7 2 ?
(A) hl{background-color : red; }

(B) .hl{background-color : red; }
(C) #hl{background-color - red; }
(D) <hl>{background-color : red;}

Which of the following HTML tags is used to create a hyperlink in a webpage ?
%Eﬂaﬁ%@tﬁamﬂm%hﬁnﬁﬂ%am%nmm@m% ?

(D) -:h:ne;f:-
In analog computer

I.  Input is first converted to di ital form
II.  Input is never converted to digital form
L. Output is displayed in digital form
IV. All of these

Pick the correct statement :

(A) 1&II  (B) I,MandIV(C) Onlyn (D) None of these
AT e

L 7w fefee mea dagmar
IL 3792w fefues wea A aff qeem 2

I, L

I ﬁﬁﬁmm WM R |

o# T3 gfu .

(A) 13q (B) ILM IV (C) F=a 1l (D) 3 | =g A

What is the tﬁ[iumihﬂi the logi it §
}A; To control flow o ir?fi;:nn;gguﬁal lf'il 1_1[:_31 . prﬁnii?ﬁﬁﬁmpum '
C) To compare data % None of these
m%qu%%qﬁ:mmmﬁﬁ% ?

(A) F5 % warg =1 Brgam (B) 9fom 3= 55

(C) wHia forema s (D). FHADETE

Code No. : C-TB0/2022/Scries B
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AICR 1

(A) ﬂﬁﬁmﬁﬁmm (B) #ifews g dhteet fitras
(C) TfeH 3% HIe fesrifrrgm (D) W1 §% P Rt

86. Which printer uses light beam and electrostatically sensitive black powder ?
( ﬁ; Dot matrix printer B) Daisy wheel printer
Chain printer i % Lager printer
#1771 izt ywmm garaﬂtﬁiqa ~Tferh §IQ FIH 1T 1 WA FA R 7
(A) =ie Afgwm i (B) = = fii
(C) + i (D) W fifex
a7, thch IS an exam ﬂ'q{ﬂe of nnn—vnlatlle memory ?
FIRREWR 77
[A} RAM (B) ROM (C) LSI (D) VLSI
887 Secondary storage does not
d A) require constant power B) use etic media
C) store information for later retrieval ED% None of these
HUsO
(A) ¥ Fraa wfea St srawrsar 78 26t | @
(B) #afes ifem s yom @i sl B | %ﬂ
(C) werelt 1.5 o foTe w1 woemeon 7t weeft |
(D) ¥ & 1§ 7
89:  Conversion of binary number (1001010), to its decimal number is
T FEAT (1001010), T e SRS FGAT B ST 2 -
(A) (72)0 (B) (63)y9 (€) (T4)y0 (D) (974
%0, m%}:} is Fﬂ Eﬁm of system programs that together controls the operation
A) Operating system ; Npphcauun software
{ } Both (A) & (B} e & one of these
S g 3 et S e v
7
(A) wiefén fees (B) ueitd afwedan
(©) (A) 3l (B) T (D) ¥ A5 7
0
' 5 oh i classified as low level Ianguage
T"cgbsﬁ:m 'I o 55} g:h @)
8 P et Tt 5 & i“‘“ﬁfﬂﬁﬂim 2@
(A) COBOL @ Cre \
(C) weft TN ___ O @3k () g
e ———— — Y 3




92,

93,

4

Code No. : C-TB0/2022/Serles-B 16

(A) Feamd (B) Fa=m () f-whitn

ypically added to the
When you mstall o new program on your computer, if & [ypit

| - (B) Select programs |

o ;‘i.fr;i';':mi (D) Deskuop progrms .
nmm&mﬁﬁwmﬁﬁﬂwﬂﬁ.“ﬁ?yﬁﬁw -
(A) et w2 (B) Fﬁﬂm‘,ﬂ

(C) = vl A (D) ety Wl

Whith term is used in MS Word to describe the act n_l'cumc'iin,g ggmummg 7
LA) Erase (B) Formatting (C) Correcting (D) Edit
qn.qn.ﬁiyﬁgmﬁtmr&an%mhfmfﬁmﬁmmhﬂﬁmmt?
(A) 3 (B) wiafn (C) witfwem (D) ufge

.B}r default the cell content alignment in MS Excel is
(A) left aligned

(B) centrally aligned

(C) text left aligned and numbers right aligned
(D) None of these

R, TR | e e f we T s -

je style slides that can presentati
tn MS PowerPoint is called it betsed fora .

(A} Wizard (B}  Autostyle C) Pre-fi ng(D) Tempi
il Gl e L - g & S
h%hmmt.ﬁﬂghm ¥ »

(D) Frorde

In [}EHE: which level of abstraction describes how data 15
(A) Logical leve| (B) Conceptual Jeye]
E:E;-“gh E;;'._lﬂ'-llwﬂ#-h (D) Schemn

! L i LR =
o L4 T T A
(C) shfaw wm
T'I'fr. Ieractive mansmssion of daty Within a time
suiléd o

(A) !HiIﬂlldl;;'lth
full duples, fip
{‘EE;I' Mﬁpm W WearatEm L




o,

101,

e S

Personal logs or journal entries posted on the web are known as

“.]"f'ﬁ blogs (B) list servers

(C) web carts (D) subject directories
o8 T ETET T Ve S0 e st U fovd T 8 IR T B
(A) =M (B) fore 7

(C) T (D) weiee 2rgtad]

Werms normally move around and infect other machines through
{F'“u] computer programs (B) computer networks
(C) computer hardware (D) None of these

HHIA: _ T 377 59 % T sigmn ¥ o sl mafa e &)
(A) TR TN (B) e 4gah (C) SFgel BEag(D) 30 3 s a8

NAND gates can be usr:d 10 perl‘um'l which type of operations ?

%; NOT (B) (C) AND (D) All of these
mmmﬂ#ﬁm#mwmnﬂzm&c[mm#
(A) NOT (B) OR (C) AND (D) 4% =i

The compiler converts your C-++ instructions into

(A) objectcode (B) editedcode (C) source code (D) translated code
FEGHAL I C++ FqEM S Hagaai & |

(A) FeAweFIE (B) SURASE (C) dWWE (D) SgElAwE

~MS-DOS supports file names upto characters in length.
(A) two (B) four (C) six (D) eight
MS-DOS Start e T IS A R WO W |
(A) = (B) =W (C) @ (D) 18
Which of the following presents the most significant feature of Indus Valley
Civilization ? . .
(A) Burnt brick buildings {[Eﬂ Art & architecture
C) Buildings of worship (D) First true arches
3 2 WA Ty a5 waiter e i sem ek 7
(A) weeh 321 % WEA (B) &= afit wmm
(C) g w= (D) wem Freafas s m

--‘Thc l::!ili:f.ﬂ'n;!&ﬁ'i .uf".ﬂ:dlﬂ l:l.ﬂn-l-“': on ]nd-lﬂ-ﬂ hlitﬂl‘}" WS ﬂ:lﬂ

(A) Consolidation of caste system  (B) Growth of Sanskrit
(C) s of Philosoph (D) Rise of other worldly outlook
Lo 1 &few a@f% w1 S

(A) snfey sa=ea 1 FHH
(C) wybrome =1 woiia




105,

106

109.

Buddha's preachings were mainly tn regard o
(A) idol worship (B7 belict in one God

(C) purity of thought and conduct (D) practice of nituals
§2 ¥ 05w e w9 8 fewd wau 8§ 9 2

(A) fd g0 (B) ' §7 & favamy
() foam stk st it remn (D) wHEE Wy

Hmndu colomes were founded in the South-East Asian countries mostly during
the period of the

(A) Guptas (B) Mmuryas  (C) Rajputs (D} Cholas
-l wftrad it 4 firg sufvam avfirmo: fawss s & SR mfE e g 7

(A) T4 (B} W (C) =g (D) =&

~Which of the following causes was not respoasible for the downfiall of Mughal

empure 7

(A) Deccan policy of Aurangzeb

(B) Religious policy of Aurangzeb

(C) Mansabdan system

(D) Revolts in various provinces of the empi
ﬁnfaﬁaiﬁaﬂqmﬁ':xﬂwm m'ﬁ;;ﬁlgfaﬂqﬁﬁmqﬂm ?
(A) e ) 2fm Fifa

(B) Froraw & ofts Hifa

(C) =Awegr womeh

(D) " & fafe= o | Gee

 Pallava kings are remembered as the makers of rock cut temples a
{*1'} H:mj:swmm (B} Thanjavur
(C) Khajurnho (D) Mahabalipuram

T T A T~z =it ¥ Fasiten & v if v iy
(A) T (B) wamg (C) (D) wewEfiqm

{T:; Sg]h?;mﬁ:;;ﬁﬁh::ﬂﬂﬂm the authority of the Caliph was
(B) Alauddin Khilji

(C) Quibuddin Mubarak

(D) Muhammad-bin Tughlag
Whﬂqm#mﬁmﬁmmﬁm, a1

(A) Framedia qrers (

(C) FAHEEH

Code No., : C-T80202 1 Serics-B




1,

Which 1s the most significant contribution of Sardar Vallabhbhai Patel 1o
modern India ?

(A) His Presidentship of Indian National Congress
(B) His role in Non-Cooperation Movement

(C) :-:is pull:ll_i-::tnnlinn in Quit India Movement

(D} _His achieyement of integration of princely states
mﬁﬁmﬁmﬁiﬂm&“ﬂamgﬁfhﬁmﬁwmm 7
(A) T ST T st 6 s

(B) FHEAF LW § I wyfrn

(C) WA BTE 3MEre 8§ 39 wrfer E
(D) T4 Feareal & v € syerfel

i, Why did Rabindranath Tagore renounce his knighthood ?

o
[

4

(A) He wanted to join the Congress party and become its President.

(B) He was not satisfied with the Constitutional reforms introduced by the
Govt. of India Act, 1919,

(C) His heart lay tom with anguish over the atrocities of the British
Government in Punjab especially the massacre of innocent people by
Dyer at Jallianwala Bagh.

(D) He wished to participate in the satyagraha movement started by
Mahatma Gandhi,

AT ST 3 39 ATRES w1 e 7

(A) =g wiim ardl & mmmgmﬂn

(B) =R YA §@H » 1919 T 9™ vy o saarfas i g

(C) T Wed yama | S0 JOT % STraram fadi: Jﬁlﬁl&ﬂ?i??m '
frzim =t % wese @ Wi W omn )

(D) &= s e} T ST T WEATR | 6T 9T 9

n, The importance of Gandhiji’s Non-Cooperation Movement was that
“ (A} it was a great movement on a large scale

(B) non-violence was ﬂnp]ny:d for the first time as an effective weapon of
Mmass movement, _

(C) it showed the ability and the willingness of the people in general to
endure.

L Ll S V—

(A) w2 =R qqmﬁﬂmmmm |

(B) 7 swgrem &y BRaR & w9 mﬁmaﬁmmuﬂnmmml

(C) e vt o e w0 6 a3 e sy B

(D) Ao




.1/1}; Which of the following 1s o feature comman to both the Indian Federation and
- the American Federation ?
(A} A single citizenship
(B) Dunl Judiciary
{C) Three lists in the Constitution
(1)) A federal Supreme Court to interpret the Constitution
P # A = o e viefra w9 i s g o s R
(A) e Fmftwm
(B) =Tt =maaier
(C) wFEum b #i7 gfaad
(D) wfEam & e & for v e oates moem
114, Which is nov specifically mentioned in Article 19 of the Constitution 7
y (A) Freedom of speech and cXpression
(B) Freedom to assemble peacefully without arms
(L) Freedom to move freely
(D) Freedom fo the press
HH = Hﬁwnm 19 ° faforea. swefirs a8 2
(A) = 3 Rmms  (B) wifges Py e £
(C) Frama = ) waam (D) S| Y =

[15.- What 1s the minimum age 1o become a Rajva Sabha member 7
- (A) 21 years  (B) 25 years (C) 30 years (D)} 35 vears
T B §EH w9 % To =mm s e d )
(A) 21 (B) 25=d (C) 30 (D) 35 @
146, When o financial emergency is proclaimed
(A} repayment of government debis will stop
(B) payment of salaries to public servants will be postponed
(C) saluries and allowances of any class of employees may be reduced
(D) Union budget will not be presented
¥4 faei e wifts g {r )
(A) | N w1 TR F A |

(B) ﬁﬁ&aﬁﬁmma?mnmﬁmﬁmj
(C) s & fasedt oft ) & 7w o vl 6 w0t B et B
(D) wedt e weagm 1 #vm |

/1)-7- Netionalisation of banks was done with the purpose of
| fsl ﬁmm;ng the industries (B) improving credit facilities
consolidating the econom (D) improving security of deposits
s“]ﬁ“ Eﬂ-‘l A &m

RIL R
(A) 1 fawamm q




L (A) Statutory Liquidity Ratio

(C) Bank Rate
A A 1 3R e i
(A) S TEE AT

(c) FE A

1. The lowest layer of atmosphere is
" (A) Troposphere

"~ (C) lonosphere

g ) W fras gw

(A) SVEUES (B) WA HUEH
Which is a metamorphic rock 7
(A) Limestone (B) Granite

w3 AR 7
(A) - (B) VAT

136,

21, Ast
 seais called

An indirect instrument of monetary policy is

Cash Reserve Rauo
Open Market Operalions

g AT
@_ﬁqﬁnﬁﬁﬁlﬂﬂ

(B)
([

(B)
(D)

(D) Wed HUBT

Stratosphere
Mesosphere

(B)
(D)

() HTEA HUEH

(D) Marble

(C) Basalt

() Hare (D)) ST

A stretch of sea water, partly or fully separated by a nammow strip from the main

(A) Bay _ (B) Isthmus (C) Lagoon (D) Strait
gmwguﬁﬁufqaﬂmmmqﬁmﬁm.mmmm
e & - _
(A) @ (B) ¥-¥4 (C) Wz (D) FeEuEAE
122 Indian desert is known as
(A) Gobi (B) Sahara (C) Thar (D) Atacama
VT e yaa W el @ —
(A) e (B) wEM (C) =m (D) erenn
113, Loktak is a
(A} River (B) Valley
(C) M%unmin range (D) Lake
“ u
(A) = (B) W (C) wmaen (D) #=
24 Which of the following area of Indian subcontinent becomes the area of low

pressure in summer 7
:E] Rann of Kutch tadi

} North Westemn Indid
Tty SunET @ T
(A) mmwmIW

(C
umm“‘“___

(B) Rajasthan
M




. - M
2. The "Valley of Flowers' is located in which state *

(A} HP (B LU.P. (C) Sikkim (D) Uttarakhand

T R em e i RE R g
(A) Teorasrw2m (B) STweW (C) faferm (D) ITANFTS
6. ‘Mumbai High' is related 1o

(A) Petrolesm (R} lrom (C) Tomb (D) Jute
" v wafg &
(A) wfemm (B) wm (C) HEaT (D) =&

7. Respiration process requires _
(A) Oxygen (B) Water (C} Heat (D)} Sunlight
o Wi O v 2

(A) #EE (B) == (C) = (D) HhwH™
8.~ The large amount of sy gar present in human blood is
~ (A) Sucrose (B) Glucose (C) Fructose (D) Lactose
masﬁnr"ruﬁmmﬂmﬁmmt
(A) HFrw (B) "e@ia (C) waers (D) @

9. Persons suffering from myopia are advised (0 use
(A) Convex lens (B) Concave lens

(C} Plano-Concave lens (D) Plano-Convex lens
| fifea =fam ) % :Nt[!i'rl

1 /AR D WA
(A) I g (B) wans &
.. (C) wuaemans #a (D) wuaETT =g

0.7 The device used to change the speed of an electric fan is
(A) Amplifier (B) Regulator

A1l C) Switch '
Forg e 61 fe ) ( m%léfﬁt (D) Rectifier
(A) wavw (B) Frams (C) =i (D) i
1, Chemically Lime water is
“ (A) Calcium Carbonate : .
(C) Calcium Hydroxide Egi gﬁ:ﬂ gydhf”dc
AT By B 19 & arbonate
(A) SR (B) wifeay
(C) &fewmm egmwame D
2, Whjchmmlispm-:ctudhyum.yﬂ
(A) Silver

B) Calg
mmmﬂnﬂ:ﬁé%ﬁ;ﬁrﬁm

(A) | (B) *fegay



gpil ard Bonnour are separated £ B s — 9

1 Lp e from Tibet by which moumtain FEHE= °
WA B) g e o (D) PR
: (C) HFuUN (13)

" Elmm]:m!«‘ valley 1s located in which district of HP ?

A Linnaur (B)  Sirmour (C} Kullu (D) Lahaul-Spiti
b i AT e % P o B o 8 2 "
(A) fan (B) faods (C) Foe (D) M-

k. Which 15 the largest nver in Hp 2

(A) Satlej (B) Beas (C) Chenab (D) Yamund
e Ten S FEH Ef T Ea @ R
(A) HATA (B) =m () &mE (D) THA

i3, By which name Hj_mnr:hn] is introduced on the tourism map 7
(A) Shiv Bhoomi (B) Apple Land (C) Peach Bowl (D) Devbhoomi

qitzA At fewreer i am g aifen 7
(4) fara it (B) #ayf (C) sy @ wIM (D) &3 9

_!}?:' Shitidhar is located in which district of HP 7

(A) Kullu (B) Mandi l;? } Kangra (D) Chamba
fafm oA wen S e A A fRmt 7
(A} FFe] (B) Wl (C) i (D) =

1. First Deputy Speaker of HP Vidhan Sabha was
(A) Krishan Chander (B) K.L. Mchta ﬁ
(C) NC.Nandi (D) Pandit Jaiwant Ram
Tt o AT GW1 & W FIAN €

(A) gwnEe (B) Fu@ T (C) WA T (D) 9fen swEa o

138 Whe w .rman of joint meeting of Shimla Hill states and Prai
> H‘Eﬁpﬁmﬁhﬂﬁm held in S (C) Viiay Sy . Pis
(A) Durga Singh (B) Wﬁ{fnmqnall ljﬂmh (D) Garur Sen
frem B waaft 1948 § ST = AN g wffifi

1 T w5 AN T 87, P
(A) 'Elﬂﬁ-l! (B) FHHE 98 (€) o (D) W&z gy

!ﬂ"';l:-"lltn - o %ﬂ inistry headed by Dr. Y.5, Parmar assume office in the
art 'C' state 24t .
(A) 24% March, 1948 }_IH:-; Ei* mmh' }3;2

(C) 24® March, 1952
!T.}am,qn, A @ HEEH e e

S o e o 7
_(A) 247, 1948 (B) 24 914, 1950




f Surudwara 7
kh G od W paonta Salub Ll
14F. Wh's::ll Sikh huru is linked with the By Gurs Adjun ”u?
| {2: Eu:mu ?n;i;ﬂnhudur (D) Guru Govind Singh
(L) egh = i‘-’
mﬁfﬁﬁgﬂmmﬁtgﬁmHFE i _ N
(A) TEAWH  (B) s ed (€ 1 i EEE (D) 7T R fiy

142, Who is the creator of the Murals on the walls 0

p kil achali people 7 .
apple plucking skill of Him ped () M.C. Saxena (D) None of thes

3N, c Shobha Singh ( .
%ﬂ?;%%mﬁgﬁ-ﬂﬁ%.ﬂﬁ fiesrered) @ o J9 AR Py

) wefit ) &, @ e e R 7 |
(A) VER, e (B) wofee  (C) WLELEE (D) o o o

_IJ_-J}"#:‘-‘!"I':iuh Kangra ruler accepted the rule of Akbar 7

(A) Alam Chand (B) Dheer Chand
(C) Anand Chand (D) Dharam Chand
fies Fhg) e 3 FwET WA R 7

(A) wEmwg  (B) drEE (C) sFeEe (D) WWwEg
144, - On what date did the Indian Parlinment pass the State of Himachal Pradesh Act?

f the Mall, Shimla that depict g,

~" (A) 1*November, 1966 (B) 18" December, 1970
(C) 26 November, 1969 (D) 15 April, 1954
wmre w3 T fom firrae wen o sfufaam oifw e 7
(A) 1 a0, 1966 (B) 18 fewm, 1970
(€) 267, 1969 (D) 15 %=, 1954
A6 {T: e, Eﬂrﬂ[ﬁ and Banyangehu are the famous dances of
B e ) Aully (C) Lahaul-Spiti (D) Kinnaur
m.mmmmmmmg? Pl (D)

L ‘rm‘} o (B) ¥y (C) wm-vfifa (D) RN
1467 In which year the target of otg| electrification was achieved in H.P.?

A) 1985 N e sk 3 i e fo 7
147 mmimmi}pahwmﬂ e (D) 1999
(&) Jsi Dev Kir Mﬂgwﬂmlmmlﬂﬂg?
wani Garg Prakash Saraswal
#1989 ¥ Y1 T 1) wyary (D) Pt Bhavani Dutt Shastri
(A) ¥a 2 fwm I Y
(C) vt mi

Code No. 1 C-TR0V202 2 Serles-B



puropedn Urganization fo _ ) |
:‘! the nhsun-_n slatus nrwm:hbi;i'r;ﬁﬂimmh - CERN has recently suspended
(A) Russia (B) Ukra: . :

T . (C) Belarus (D) Uusa
m? IR R - CERN 3 qren & o 21 a1 s et i

(A) B8 B) ©) dww (D) siha

. What is the theme of Nationg] yoys, Parliament Festival 2022 ?
(A) Bethe voice of New i

) ndia and find solutions and contribute to policy
(B) Voice of Youth matiers

(C) E-Govemnance ang use of I[CT
(D) Pasticipation of Women in Parliameny

#ma@wﬁuﬁzﬁfﬁaamuﬁmwﬁ?

(B) T St HArara wEw w@di Q|
(C) g~mardq 3R ICT = 3qaim %
(D) #wg # ufgemait 6 wniterd

% What is ‘PARAM Ganga’, which was in news recently ?

|A} Covid Vaccine (B) Ganga Rejuvenation Scheme
(C) Super Computer (D) Crypio Cumency

TR g R, < s g A EE AW
(A) Ffe 4w (B) "™ STy g
©) g g PO, ol 5

« Whi . Mﬂﬂimuﬂ Fl'ﬂd“ﬂﬂ'ﬁ][hu w“[d‘ as on 2 n
A) Ry @) USA (©) Saudi Arghi oy 2022
2022 7 fia et 1 0 1 I R

| '.ryﬂ’; certin code SUBSTIT mﬂm: 311; wTitien as ITSBUSNOrTyT How ig
VISTRIBUTION written if N BATSBUSNOTTE T fe
&ﬁlﬁﬁ'ﬂtﬁﬁ §%1&mm ? ﬁmmé\f?ﬁﬂ
¥, DISTRIBUTION (8) IRTSIDNO

A RTsIDNOITUB (D) IRTDIENOY
O mrpisnorTu® L PIUTR



153

In a row of 24 students, when Janki was shifted by 4 places towards lefi, she
became 8" from the left end. What was her earlier position from the right end
of the row 7

(A) 12® (B) 13® (C) 14 (D) 15

24 BT i v dfen d, e e ar AR 4 =E TR A ], A w e a &
e 3 T 2 | i g iR R el o A R ot 7

(A) 12% (B) 13 (C) 144 (D) 154
184 Pointing to a woman in a photograph a man says, “she is the only daughter of
my father’s mother-in-law™. How is the woman related to the man ?
(A) daughter (B) mother
(C) daughter-in-law (D) mother-in-law
IS H T Al 0 FE §Y CF [ FEA 2, g8 R ey 6 5w
1 FFE Sl @ | 9 HiEe e THR 7oy | wafE @ 7
(A) ot (B) =™ (C) w® (D) |ME
155. Antonym of the word ‘Despondency’ is
(A) Humility  (B) Pleasure (C) Cheerfulness (D) Excitement
156, One word Substitution for ‘Constant effort to achieve something’ is
¢ (A) Perseverance (B) Attempt
(C) Enthusiasm (D) Vigour
I,E'?' Ajit promised me that he would come did not tumn up.
(A) and (B) though (C) but (D) still
158. Meaning of the idiom ‘1o keep the ball rolling” i
T Tocmme & e I
(C) To change the SOITY scheme (D) To kee i :
: p the conversation going
159. ‘gto' Fwfafsda g
' (A) 8: + %W B
E_‘_ ® Frwm ) madm (D) §+¥
90: o' | gumm
(A) 9959 (B) z=
o (C) =g
161. =Tl W TRy &) ayﬂﬂ
162, “HE’ T watgareh & | ® ¥
s (A) grgd (B) &mm {Q) m
Code No. : C-?Eﬂﬂm—ﬂﬁeﬂes-ﬂ 26 i) D) kS




pecimal _numbBr System |, o
(6} g 3 TR ®_____ digits.

(A) 10 (B) 2 ©) 9 (D) 16
” The value ﬂf{lﬂlﬁ)::_ In dee al number system is

T S GIH (1010), 37 7

4) 10 (B) 8 ©) 14 (D) 12
165, Which of l;; f;ﬂ:gng;:g%amﬁgig% n?mher 9

(A) BAD (B) BEG (C) BED (D) ACE

165" A hinaq:f number can be ¢asily converted to equivalent hexadecimal number
by forming groups of Successive bits starting from LSB.

Hea Befhar fye (mﬁ}ﬁwﬁﬂﬂ___ﬁﬂﬂﬁwﬁﬂﬁ
mwﬁ-mmﬁmﬁmmmmﬁmﬁm
FEHATER |

(A) 4 (B) 2 (©) 3 ® s
M/T/What does MSB mean in binary number system ?
" (A) Machine Specific Bus l{gi ﬁ?hﬂm’cﬂ System Board
(C) Microsoft Business _ st Significant Bit
ﬁ_mmmﬁwﬂﬂw ﬂﬂm}%wmg 7
(A) e Qferfes 79 B) Fofrarer fireen sirg
R (D) e Rerfiftrrve fie
(A) Right B C e nt ®

TR~ & famiee 2R @ (©) frwms
&) e (o) B T
Bt MS-Word, which of ¢ -

‘A) Thesaurus (B)ﬁ:;ﬁ??ﬁ ¥ Rare h‘m@m

#
Wy § e A

(D) T (Fye)
Jowing 100IS can be ysed 10 find SYnonyms of g




170. What is the role of Ctrl + Y shnrtcul ke m MS-Word ?
}—ﬂ' (A}u PEE!EESPEEIEJ (B) Spellcheck ndﬂ (D) Redo
B Ctrl + Y Tiéshe-ahl &1 fam qe) B 7

(A) ﬁeﬁﬁ‘aa (B) Hras (©) 31’@ (D) T

1?1 Moving the cursor to the last cell of a table and pressing key will

a new row m uae table.
(.R Enter Insert (C) Tab Down Arrow
fﬁi mﬁﬂﬂﬁmﬁw Eﬁ(key)'ﬁﬂﬁwréaﬂﬁqa;qﬁ
qﬁa{ﬁ}iﬂh’ﬂml
(A) T (B) T (C) <= (D) sERAY

171 In MS-Word, which of the following tasks can be performed using ruler ?

A) tochange € margins B lnsettabs
(& 10 setimdente e D) All of these

e - 3, T 1 I S Pt § A A i (o) R e @ 7
(A) '{E%mﬁlﬁﬁm (B) dEATHEA
(C) TE=< & FE (D) "gwafi

AT3. nguwtmg} default number of lines dropped when using drop cap option in
maﬂﬁ@q#ﬁmmmmmﬂmﬁwﬁﬁﬁ@m
TR ?
(A) 4 (B) 3 (C) 2 (D) 5

174. -Pressing key three times select the current sentence in MS-Word.
- ww@-aE®_____ $ (key) ¥ SR SITIAR 24 9T SaWH IR A B R |
(A) F9 B) Cul+Q  (C) F5 (D) F8

175. - What feature helps nutnmsms sthout
o formatting “1:' S Word s the contents of the Clipboard as text withou

‘ ﬂﬁ Paste Special (B) A
% ( ) utocomplete (C) Thesaurus _ (D) Mail
oo i T SRR o

(%) W (8) Fwmre (C) dwka (D) Ao
(A} ﬂg ;ﬁ; the foIluwmi is not a type of pag nargin margin in MS-Word dnmnnenl 2

(D) 1
m;ﬁ"“@**“"ﬁp PR S 8 s a1 g 5 B (ot TREA) 7

(A) often (Tge) (B) ¥id (e
I.J‘f Portrait and Landscape are ) (C) W () (D) amatf (AwR)

A .
GRema | B

‘”"““’“Wﬁ@m ® gomm G ko

©) IS (39 -3z
28




h of the followi
|78 E;,} ECnntmuuus (ll;llg 1S not a valid section break in MS-Word ?

Previous Page(C) Qdd P (D) Next Page
- # PR 3 2 1 o e e 3 1 € 7
(a) FEAFE  (B) Bfmmdw () sigdm (D) TR

o, In MS-Word, the list of recipients in mail-merge is known as a

(C) Data Structure ) Database
ﬂ%ﬁﬁmﬁﬁﬁnﬁﬁqﬁaﬁm@;ﬁm)aﬁ@ T & S
|

) TEEE  (B) Sw¥emd () TaEER (D) @

1§0. What is the wildcard that matches one or more sccurrences of a pattern in
MS-Word search 7
w—aéa#ﬂﬁﬁﬁﬂzﬁ:ﬁ mmm%u@mmﬁaﬁ#m% ?

(A) @ (B) + (€ ? (D) =

IEIHW‘I; 15 t]:u: shortcut key in MS-Word to insert a manual line break * ?
8 o A= T W S, 3¢ S hl ehe-hl B Hl 27
Ef"i-} Ctrl + Alt + Enter (B) Shift + Enter
(C) Ctrl + Enter (D) Alt + Enter
182. What key combination is used (0 MOV back to previous level of numbering/

hulh:ls in MS-Wnrd ?

TqE-98 Waﬁ@aﬁmmmmﬁ#ﬁqmﬁaﬁ(kmm
mw&mﬁmmt? & |
(A) Tab @) Cul+Tab (C) Alt+Tab (D) Shift +Tab
183. Font si erall meﬂsuﬂd m“""h‘“h 18 equal to of an inch.
s g o AT g’mhﬁﬁﬁ*_ W |
(A) 1/92 ®) 1/96 ©) V64 D) 1772
heet 7
184, What is the size of an A4 & ®
A4 Y e 6 get T %_ug %ﬁ

(A) 244 mm x 244 mm (D) 197 mm 247 mm

(C) 210 mm x 207 mm |
155{,.. A comPULEr can perform ph:x :atululmnﬁ with the same speed and

racy ﬂ:ﬂ Cend without getting tired. Thi
aect o m the start till is characteristic

System is i T3

A) liability (C) Diligence D o
(B) Re .. (D) Versatility
&m wn ¥ ypara @ 2 T O Wmnﬁtal

Faal SRt IR
T o L L S e TR |
©) e (e ©) e (i)

L T 3
29




186. Which of the following is considered to be the world's first cCOMMmCIuiaiy
available microprocessor 7
! (C) ENIAC (D) CRAY-I

(A) Pentium (B) Intel 4004
{8 T frva o S e ST AR T U TR AT AT o 8 7

Freferfan
(A) ¥R B) wad00d () fwdh (D) HEER-

187, The word algorithm is originated from the name of w hich Islamic scholar 7
(B} Al-Khwarizmi

(A) Al-Gore

(C} Abu al-Hasan al-Ahwazi (D) Omar Khayyam
*¥ @ sEETh fagm & A @ I T SeRA e g 7
(A) FH-T (B) Fw-wanfudi

(C) 378 HEA-EEA 376~ SEEA (D) ¥ @™
Whn is considered to be the world’s first pro mer 7
’;3 i Eillll

{ Lady Ada Lovelace (D} Gates
‘L#ﬁ CI'LHII#E Babbage Allan Turing
Fadvgn o s A REER T A R 7

(A) Fd smemom(B) e e (C) Fredaaa (D) e 2gfm
189, Which of the following cellular technology is also known as 2.5G ?

< (A) GSM (B) LTE (C) 4G m; GPRS
A Aegen Feteta 8 A fed 2.5G At I R
(A) HfusTs (B) wFéH (C) 4G (D) FHrfiFmus
190, - Who among the fnllnwmgls founder of Twitter 7

Mark Zuckerberg

: E{ };::nk Darzg;d fg‘)p David Filo
’ meamnﬁ Zate 3 e o f 7 * _
(A) g @ieen (B) W e (C) ImEM (D) s e

18T, Which of the following is not a version of Windows operating system . ?

A) Wmdnws'-" {H] W:nduwsg (C Wmdnwsﬂ (D) Windows 10
2 wfqtfén TR

(A) ﬁa‘hﬂ i.‘B} hmg (C) ms (D) fa==m 10

A92. A program written in generation pmgmmmmg languages is portable.
(D) Al of these

(A) 1" (B) 2% e

% S Wmmﬂmﬁf!ﬁmﬂmt.ﬂ R

(A) Tom (B) fa () T (D) T
Jﬁ‘i Which of the following types of gra Ehlﬂﬁ I "

m“}ﬁ;:ﬂpﬂm }““" ""‘EM ircles an I

m:mﬂ
ST¥T SR 5t 1 Fii\;qamnﬁ




96,

197

158,

199,

100,

-"l—\_‘_\_-_‘_-_

Which ol the followmng iy

|  No rage device ?
iA) Solid State Disk 21 nota Etuﬂmhln 12 ﬁu
() 1 | mve

Random Access Memory
I‘]i Hard Disk

e ““ﬁhmﬁﬁiﬁh =i iR 7

(A) e w22 faem (B} T==a v S

(Cy B g

(D F'Fh;&ﬁ
: Wiuch of the following i

(A1 CGoogle Slides (B

15 4 Clowd based file stomge service Fﬂﬂdﬁj h‘.'r" GWE[‘: 7
TR I SR Sy

Google Keep (C)  Google Drive (D) G

le On
T e s woe e P 8 B B 8 2
A TIRFTSE8 (B) Tmdm (¢) e ges

(D) = =S
Desktop and laptop “omputers are also known as
LAY M Computers

(B} Server Computers
(C) Mainframes

(I Microcomputers
mmmwﬁﬂmmmqmm
(A) Bl wopd (B WU EEEE () e .:mmw
Which of the following is the cormmect mcreasing order of ity 7
LA) M ﬂgﬂhﬂ: < {T‘:Tmbyt:'ﬂ Petabyte - ‘lﬂt:l,'g:u.l'.l:;.rtl;H S RIeIRCY Chphaiey:
gB't ngﬂh "'u‘i:.gn ¢ < Terabyte < Petabyvie
Mega }‘h‘: < Gigabyte

< Terabyte < Petabyte
%m Gtgahﬂe < M:g_ah < Pul:-.hyt: T-:mht-'l..:

TEfi g En R
(A) IITITIrlE-:Tﬁ'l‘IiTE{

< T ﬁ
(B) Trmanse < Bnmemge < 209 < Yememe
(C) TmmamE < frmege < TR < YEmerse
(B) Tirmemsz < ATz < TR < ZoATE
Wh the follows proposed  the concept of
Ew?:umnﬁ - Pl of "Stored Program
f{lz ffﬂn w.%n Neumann f[%]] !;I?T:Kmm .
an Turin . Berners.-
38 o~ s R ) SR e
(A s =t =ma (B) wfa wieA 'y

(A) ft?ﬁ'll (B) Al 1C) ey

‘mf process of wmmf diacss CD 1 ﬂl:-ﬂ hﬂr{;::rl:l =
roasting ‘:‘Fhﬁm w
WA (Cw e
Wsmmam R |

- - L.
(A} Trefim (B) W (©) %

_--_.-_.__.--—

M B




